## **BID PROPOSAL FORM**

## IMPROVEMENTS TO MOUNT LUCAS ROAD

Bidder:	Earle Asphalt Company
Address:	PO Box 556
	Farmingdale, NJ 07727
Telephone:	(732) 308-1113
Facsimile:	(732) 308-1034
Contact Person:	Brian M. Cooper, PE, Vice President of Engineering
Email Address:	bcooper@earleco.com

- 1.The undersigned, having carefully familiarized themself with the scope of work, technical specifications, administrative requirements, and conditions affecting the cost of the materials and their performance, and having carefully examined and fully understood the Bid Documents prepared by Princeton, hereby accepts all terms and conditions of the Bid Documents, and hereby affirms and proposes to enter into a contract to provide all supervision, labor, materials, equipment, transportation and all other expenses required to supply, deliver and install completely the material covered by the Bid Documents for the sum indicated against the applicable bid item.
- 2. The undersigned acknowledges that they have carefully examined the Instructions to Bidders, Detailed Specifications, Drawings, and all Addenda acknowledged herein. Further, the undersigned has inspected the project site and fully understands the conditions affecting the work. Bidder is familiar with and is satisfied as to all federal, state, and local Laws and Regulations that may affect cost, progress and performance of the Work.
- 3. The undersigned hereby certifies that they have full authority to make the Proposal and does further declare that they are the only person or persons interested in this Proposal and has not entered into any collusion in preparing the Proposal.
- 4.If notified of acceptance of this Proposal within 60 days after the time set for opening bids, or any authorized extension of that time, the undersigned agrees to execute a contract for the Work for the stated sum in the Bid Proposal form included in the Contract Documents, and to complete the work according to the terms and conditions of the contract within the time established in the Specifications.
- 5. The undersigned agrees, if awarded the Contract, to mobilize and begin work within 10 business days after the Notice to Proceed and substantially complete the entire work to the satisfaction of

the Owner within the time stated in the Specifications. We further represent and certify that we will provide all equipment and other items necessary to complete the Contract.

- 6. The undersigned has given written notice of all conflicts, errors, ambiguities, or discrepancies that they have discovered in the Contract Documents, and the written resolution thereof by Owner is acceptable to both.
- 7. In accordance with N.J.S.A. 40A:11-23.2, the undersigned Bidder hereby acknowledges receipt of the following Addenda with their initials:

Addendum Number		Date	Initial	
Number (	)	None		
Number (	)			
Number (	)			
Number (	)			
	If No Ad	denda were issued, Initial Here	BMC	

8. We the undersigned are created and existing under the laws of the State of New Jersey, as a:

[  $\checkmark$  ] Corporation

[ ] Limited Liability Company

[ ] Other

8. This bid proposal must be signed in the space provided for signatures below. In the case of an entity, the title of the person signing must be stated, and the signature of said person must be duly attested.

Brian M. Cooper, PE, Vice President of Engineering

Name and Title

July 09, 2025

pature Date

Muhael of Earle, Michael G. Earle, Secretary July 09, 2025

Attest Date

1	IMPROVEMENTS TO MT. LUCAS ROAD  BASE BID UNIT PRICE PROPOSAL					
PAY ITEM NO.	STANDARD ITEM NO.	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT COST	EXTENDED COST
1	151006M	PERFORMANCE BOND AND PAYMENT BOND	DOLLAR	1	\$7,500.00	\$7,500.0
2	154003P	MOBILIZATION	LS	1	\$60,000.00	\$60,000.0
3	157010M	RESET MONUMENT, IF AND WHERE DIRECTED	U	1	\$100.00	\$100.0
4	158006M	SILT FENCE	LF	4,776	\$3.25	\$15,522.0
5	158030M	INLET FILTER TYPE 2, 2'X4'	U	30	\$200.00	\$6,000.0
6	159003M	BREAKAWAY BARRICADE	U	10	\$0.01	\$0.10
7	159006M	DRUM	U	20	\$0.01	\$0.20
8	159009M	TRAFFIC CONE	U	40	\$0.01	\$0.40
9	159012M	CONSTRUCTION SIGNS	SF	568	\$15.00	\$8,520.00
10	160004M	FUEL PRICE ADJUSTMENT	DOLLAR	1	\$700	\$700
11	160007M	ASPHALT PRICE ADJUSTMENT	DOLLAR	1	\$1,700	\$1,700
12	161003P	FINAL CLEANUP	LS	1	\$15,000.00	\$15,000.0
13	164001M	AS-BUILT DRAWINGS	LS	1	\$2,000.00	\$2,000.00
14	201003P	CLEARING SITE	LS	1	\$193,036.18	\$193,036.18
15	202006M	EXCAVATION, TEST PIT, IF AND WHERE DIRECTED	СҮ	20	\$300.00	\$6,000.00
16	202009P	EXCAVATION, UNCLASSIFIED	CY	2,526	\$90.00	\$227,340.00
17	202012M	PRESPLITTING, IF AND WHERE DIRECTED	CY	50	\$10.00	\$500.00
18	202015M	EXCAVATION, REGULATED MATERIAL, IF AND WHERE DIRECTED	CY	2,526	\$0.01	\$25.26
19	202024P	DISPOSAL OF REGULATED MATERIAL, IF AND WHERE DIRECTED	TON	2,905	\$0.01	\$29.05
20	202030M	SOIL SAMPLING AND ANALYSES, REGULATED, IF AND WHERE DIRECTED	U	1	\$2,000.00	\$2,000.00
21	202031M	SOIL TESTING PL2012 C-73 ALLOWANCE	DOLLAR	1	\$5,000	\$5,000
22	302035P	DENSE-GRADED AGGREGATE BASE COURSE, 5" THICK	SY	330	\$25.00	\$8,250.00
23	306001P	SUBGRADE REPAIRS, IF AND WHERE DIRECTED	CY	500	\$30.00	\$15,000.00
24	401009P	HMA MILLING, 3" OR LESS	SY	1,170	\$10.25	\$11,992.50
25	401027M	POLYMERIZED JOINT ADHESIVE	LF	3,268	\$0.01	\$32.68
26	401030M	TACK COAT	GAL	622	\$0.01	\$6.22
27	401042M	HOT MIX ASPHALT 9.5M64 SURFACE COURSE	TON	1,068	\$130.00	\$138,840.00
28	401096M	HOT MIX ASPHALT 19M64 BASE COURSE	TON	2,498	\$105.00	\$262,290.00

Princeton
IMPROVEMENTS TO MOUNT LUCAS ROAD

	IMPROVEMENTS TO MT. LUCAS ROAD BASE BID UNIT PRICE PROPOSAL					
PAY ITEM NO.	STANDARD ITEM NO.	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT COST	EXTENDED COST
29	601194P	15" REINFORCED CONCRETE PIPE, CL. V	LF	102	\$115.00	\$11,730.00
30	601370M	15" REINFORCED CONCRETE END SECTION	U	4	\$1,950.00	\$7,800.00
31	601418P	4" PERFORATED HIGH DENSITY POLYETHYLENE PIPE	LF	193	\$65.00	\$12,545.00
32	601630P	14" x 23" REINFORCED CONCRETE ELLIPTICAL PIPE, CL. HE-IV	LF	46	\$220.00	\$10,120.00
33	601684M	12" DUCTILE IRON PIPE, CLASS 52	LF	138	\$200.00	\$27,600.00
34	601685M	14" DUCTILE IRON PIPE, CLASS 52	LF	221	\$225.00	\$49,725.00
35	601686M	16" DUCTILE IRON PIPE, CLASS 52	LF	46	\$250.00	\$11,500.00
36	601730P	4" PVC CLEANOUT INSPECTION RISER	U	5	\$250.00	\$1,250.00
37	602006P	CONCRETE HEADWALL	CY	4	\$2,900.00	\$11,600.00
38	602012M	INLET TYPE B	U	11	\$6,000.00	\$66,000.00
39	602018M	INLET TYPE E	U	1	\$6,000.00	\$6,000.00
40	602029M	INLET TYPE D	U	1	\$5,500.00	\$5,500.00
41	602054M	MANHOLE, 4' DIAMETER, IF AND WHERE DIRECTED	U	1	\$4,500.00	\$4,500.00
42	602390P	PRECAST CONCRETE WINGWALL	CY	2	\$2,900.00	\$5,800.00
43	603036P	RIPRAP STONE CHANNEL PROTECTION, 12" THICK (D50=6")	SY	54	\$100.00	\$5,400.00
44	604006P	GABION MATTRESS	CY	5	\$1,075.00	\$5,375.00
45	605199P	WOOD STOCKADE FENCE	LF	139	\$50.00	\$6,950.00
46	605200P	SPLIT RAIL FENCE	LF	33	\$80.00	\$2,640.00
47	606015P	CONCRETE SIDEWALK, 5" THICK	SY	81	\$175.00	\$14,175.00
48	606027P	CONCRETE SIDEWALK, REINFORCED, 8" THICK	SY	37	\$250.00	\$9,250.00
49	606033P	HOT MIX ASPHALT DRIVEWAY, 2" THICK	SY	350	\$50.00	\$17,500.00
50	606044P	STONE OR GRAVEL DRIVEWAY, 4" THICK, IF AND WHERE DIRECTED	SY	30	\$48.00	\$1,440.00
51	606082P	DETECTABLE WARNING SURFACES, STEEL, 24" X 24"	SF	52	\$55.00	\$2,860.00
52	606088P	DETECTABLE WARNING SURFACES, STEEL, 24" DEEP RADIAL	SF	105	\$65.00	\$6,825.00
53	606145P	RESET BRICK, CONCRETE UNIT PAVER, AND BELGIAN BLOCK SIDEWALK AND DRIVEWAY, IF AND WHERE DIRECTED	SY	30	\$200.00	\$6,000.00
54	606146P	HOT MIX ASPHALT POROUS SIDEWALK, OGFC, 18" THICK, WITH PVC	SY	1,103	\$130.00	\$143,390.00

Princeton
IMPROVEMENTS TO MOUNT LUCAS ROAD

	IMPROVEMENTS TO MT. LUCAS ROAD  BASE BID UNIT PRICE PROPOSAL						
PAY ITEM NO.	STANDARD ITEM NO.		DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT COST	EXTENDED COST
		IMPE	RMEABLE GEOMEMBRANE				
55	606149P	OGFC	MIX ASPHALT POROUS SIDEWALK, C, 18" THICK, WITH PERVIOUS NON- EN GEOTEXTILE FILTER FABRIC	SY	1,364	\$95.00	\$129,580.00
56	607024P	9" x 2	0" CONCRETE VERTICAL CURB	LF	70	\$55.00	\$3,850.00
57	607076P	4" X 6	5" X 10.5" BELGIAN BLOCK CURB	LF	3,392	\$60.00	\$203,520.00
58	610003M	TRAF	FIC MARKING LINES, 4"	LF	11,288	\$0.75	\$8,466.00
59	610017M	TRAF	FIC MARKING LINES, 24"	LF	374	\$5.00	\$1,870.00
60	610062M	TRAF	FIC MARKING, INLET ARROW	U	13	\$65.00	\$845.00
61	610063M	TRAF	FIC MARKING, HYDRANT TEARDROP	U	3	\$160.00	\$480.00
62	612003P	REGU	LATORY AND WARNING SIGN	SF	194.25	\$50.00	\$9,712.50
63	612047P	STREE SUPP	ET NAME SIGN, STEEL ROUND POST ORTS	U	3	\$500.00	\$1,500.00
64	651255M	RESE	T WATER VALVE BOX	U	3	\$0.01	\$0.03
65	652435M		「MANHOLE, SANITARY SEWER, G NEW CASTING	U	16	\$1,250.00	\$20,000.00
66	653084M	RESE	GAS VALVE BOX	U	1	\$0.01	\$0.01
67	802019M	STUN	IP REMOVAL	U	1	\$450.00	\$450.00
68	802021M	TREE DIAM	REMOVAL, OVER 6" TO 12" ETER	U	13	\$500.00	\$6,500.00
69	802024M	TREE DIAM	REMOVAL, OVER 12" to 18" ETER	U	17	\$950.00	\$16,150.00
70	802027M	TREE DIAM	REMOVAL, OVER 18" to 24" ETER	U	11	\$1,500.00	\$16,500.00
71	802030M	TREE DIAM	REMOVAL, OVER 24" to 30" ETER	U	7	\$2,500.00	\$17,500.00
72	802033M	TREE DIAM	REMOVAL, OVER 30" to 36" ETER	U	2	\$2,750.00	\$5,500.00
73	802036M	TREE	REMOVAL, OVER 36" DIAMETER	U	3	\$3,500.00	\$10,500.00
74	804000P		DIL SPREADING, 5" THICK (SEEDING, LIZER, STRAW MULCH, TACKIFIER)	SY	4,326	\$5.00	\$21,630.00
•			BASE BID AMOUNT				\$1,915,413.13
75	166001M	CONT	INGENCY, IF AND WHERE DIRECTED	LS	1	\$140,000	\$140,000
BASE BID AMOUNT PLUS CONTINGENCY IN NUMBERS						\$2,055,413.13	

BASE BID AMOUNT PLUS CONTINGENCY IN WORDS \$\_\_\_\_\_

Two Million, Fifty Five Thousand, Four Hundred Thirteen Dollars and Thirteen Cents

Princeton
IMPROVEMENTS TO MOUNT LUCAS ROAD